
  1.   1__ x 4__ = 60

  2.   2__ x __4 = 100

  3.   3__ – 2__ = 33

  4.   5__ + 2__ = 30

  5.   1__ x __3 = 45

  6.   6__ – 7__ = 58

  7.   9__ + __7 = 66

  8.   3__ x 2__ = 70

  9.   4__ ÷ 3__ = 15

10.   7__ – 8__ = 67

11.   9__ + 3__ = 44

12.   8__ + 9__ = 94     
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both are correct
13.   2__ x 2__ = 50

14.   6__ – 9__ = 56

15.   7__ + 5__ = 62

16.   3__ ÷ 7__ = 5 

17.   8__ + 4__ = 53

18.   5__ + 6__ = 61

19.   2__ ÷ 1__ = 25

20.   2__ x 3__ = 75

21.   6__ ÷ 5__ = 13

22.   9__ – 6__ = 89

23.   1__ x 2__ = 25 

24.   6__ x 2__ =150         

   

Fix each math problem by inserting a 5 in the correct place.
Use #1 as an example. Before inserting the 5, it read 1 x 4 = 60.
By adding a 5, you could change it to 15 x 4 = 60, or 1 x 45 = 60.

Only the first is correct, so the 5 belongs on the first line, as shown below.
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